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J.

For an object thrown up with a speed of
20mlsec, the height h above the ground in

meters after / seconds is given by the equation

h=20t-5P
How high will the object go up before starling

to fall down?

A. 40 meters

B. 30 meters

C. 20 meters

D. 10 meter

While teaching'Polynomials', a good teacher

asked the students to prepare for a project on

the topic. The aim of the teacher was :

A. Saving time

B. CommunicatingMathematicsideas

C. Formulating the Mathematics ideas by

themselves

D. Developing language ability

The most important stage in diagnosis is

A. Findingthe nature of difficulties

B. Finding the causes of difficulties

C. Planning remedial measures

D. Applyingremedialmeasures

Which is most appropriate problem solving

stratcgy in a constructivist Mathematics class

room?

A. Teacher'solves the problem and explains

B Teacher gives the problem as an

assignment

C. Teacher instructs the students to find the

answer

D. Teacher faciiitates the students to solve

the problem by thernselves

Category - lll

20 algd/erau*n3" "O.m co-rcoor-oito8 aco;

orcru"oJ a;aglceto.oero1co;3cm;. t
elrueoQsoodeei; Gcooruo rcnollorop

crll eroror; cril cml I B p cot too h a1 go ceiem eJloE

h:20t - 5t2

raq6rd. oroot; crlleLoro;cn1cn5 "joacoLurl "61_ror

algd oreio pccrolo?

A. 40 algd

B. 30 algd

C. 20 olgd

D. l0 olgd

' 6rx oo]olBssBoE' "Ocm cdro foaOo 
"-ro1 

gpeoccrE

6JoJ mH <mu;3cu1e, o,3g1o, cacd
crorofleicneei;o'lgi 6Jo] cg"-rceeid
colgcoc€occDcoluoJods)cm;. s14o3os peqsoJc,

A. crDaQOo acrelosr;o

B. <nerrj1o <crqcocoreo:crE ojlcnlacoro

od9)o,
C. coorrjlo orgvocoreorod ffDIQO)o

toJ"l1eo1ao;o,

D. ec"siccuo.'?il oila,mig|oo;a

cn'laccn crn<depgcoororlod (Diagnosis) 
"69orlo

LolcD3c)od5 o€tso ogjo;?

A. ooororuoJ6cBglos oDrccoo

aeneJ"-fls1eo;o,

B. ooorouoJdunplos aco6rDo

.+,one;"ils1oei]a,

C. "-l<o'looco 
olcdr8eoag;ors @)crDllo6rDo

D. .-ltO'loOC<OCeUOCl)cDo melo,OE

cnl dm'l rorl otce o crd cDJ crD o'l 4l gg c:oJ cnerrjl ol

*.cq3lcoS lacrdm cnldocoomorolci .6qot3o

crdcn;ceo)csJoccoroS 
"6trfi 

f
A. raroo5cojlo, 1.tcldmo cn'l<druccoemo

o""rco)cil oflcror:"lo,o'loo;cm;

B. crocu5cJlo 1"-rudcoo s:o;

tsrdoocruoAoanS" *O*rt meia;cm;

C. orocuScojla a;5iiocgcd 1o-r<-rdcno

crjldtuc oemo eio-t gccrE

atldcguoleerlcml.

D. guodcno oDlQOo cril<?rucoomo 6)daecod

oroo5cila e;5[oeig cruooco,tleo;cn;.

3.

4.

5.

-3126 -
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1.

x and yare real numbers such that 3 < x < S 
] 
6.

and I <y < 2. Which ofthe following is true? 
i

A. l'<x-y<3
B. l3x-y34
C. 1!x-y35
D. 2<x-y<4

What is the equation of the circle passing

through the points (0, 0), (2, 0), (0, 2)?

A. x2-ry2-2
B. (x - 2)'+ O -- 2)'- 1

C. (x-l)'+A/-l)'=2
D. (x --l)'+ (y - 1)'= 8

Which ofthe followingmethod is most suitable

for proving the property "the sum ofthe angles

of a triangle is 180o"?

A. Analytic method

B. Synthetic method

C. Inductive method

D. Deductive method

in the histogram ofa frequency distribution,

a line is drawn parallel to they-axis, dividing

the area of the histogram into two equal parts.

The point where the line cuts the x-axis

corresponcls to which of the following?

A. Arith.rnetic mean

B. Geometric mean

C. Mediian

D. Mode

Category -lll

x, y oocm o6113J coeu"lqocruoo_t3og'loE

3 < x 3 5 go 1 3 y . 2 raroeremo1o8, olJolos

"-tooloro'r"ltolao;cmoLcolo6 "galcen5 oocol t

A. l<x-y<3
B. l<x-.v<4
C. 1<x-y35
D.2<x-!<4

(0, 0), (2, 0), (0, 2) "gcm1 anilcn;oeigiltoSeo;s'l

aSCmlGcJCaSCm ot5OrOroroioop mtootcaSo

"6CrOCenit
A. x2+yz:2
B. (x-2)'+b,-2)2=4
C. (x-1)'+A)-7)2=2
D. (x-1)'+0-1)2=8

"ao; 1o'ilcacem<oro'r1oop G6c6TDl6gJos o.116

180o" "4;cm {orolJo oop'}coloocaE .Opot;o

crd(r)]ccocsJaoao acdglo ,lJolos
oacsJ€oJ(motcor'lo8 

"6tocen5 
Z

A. rcn"llcnLncn co"ko'i1

B. prigcoLnm oloil
C. rorqoacrila, o"koil

D. rn'loarrile, <o"lo"il

ei o; crg ot5 ororl g 51 a, cor; ei s 
"_r 

o'r3 o 4i1 1o"r oro-r1 oE.

y onaslororlcn; m)occrooaccot ot<oqJ€oJoD olo

Jlroronlocr! "joggofl5.im o6rBl

cruoGcU)5cBgcdolcm). pll' olo x Groall}looro)

ersmdaei;cm eu1co; o6;ao'l'leicnc>cem"

cru;'jlgilceilcmailt

A. DccDJc

B. e5colot1aoraco5o

C. acDJao

D. o.olcolo

1.

8.

9. 9.

2 I1a
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10. Cards numbered I to 25 are put in a box.

One card is taken out and is declared to be

an odd number. What is the probabilitythat
itis aprime?

8A' rr
I

B' 
13

c*
D+

L. SOCIAL SCIENCE
SCIENCE, PEDAGOGY)

(i) Hrsronv

t.

3.

B. Kalasoka

C. Bindusara

D. Ajatasatru

Who introduced the Mansabdari system?

A. Shahjahan

B. Shershah

C. Akbar

D. Jahangir

Find out the conect chronological order ofthe

following events.

i. Gandhi-kwin Pact

ii. CommunalAward

iii. Lahore Congress

iv. Dandi March

A. iii,i,ii,iv
B. iii,iv,i,ii
C. iv,i,ii,iii
D. iii,ii,iv,i

Category - lll

10. 1 aloro8 25 oreiocor;gg oDo6rrJ6ud 
"6vlroi1cor

o s erc mr;.acrd el o3 ei"-t g corl oE p t Sl6d. p otlo8

crllcd ao] o,sercmi o€)sJoro)Jecncoeil aroail elro;

agflDoolJ0)co6TDoDJ ojoao)lcll)l. croroi eio;

GDGcgJ crDoolJ G'ro6ccDJgg crDc(I)Jo)

"gcrolcenSt

8A-I r' 
13

IB.-
l3

^8(-. E
g

D._zi

(Hrsronv, cEocRApHy, ECoNoMrcs, poLrTrcAL

eJJoJo s or crril 53 
ge ojloE eru;ar a or ffu c 2D g ff) o

oj1 9i141 c"ldoocoror corc <6 ?

A. o,cn'|.'daa3

B. ocercuocaoA

C. enilcn;mrccoo0

D. corosco.lroltol;

ocodmrenlr:col ffDLfluBceoo msgilaceeilortolcdl

A. 
"SiCg"OCOa

B. el"sad"si

C. roneienrd

D. goocoo"ld

"-r1 
ojo s or crnl $l 99 cru o e oL 5613 g 

J 
6r s uo o'l ao c aor

<S,C trJcf) 6ITICDCLO Ao 6O6II3(OrOJ&

i. cncmnl - gdoilcrd qsarsl
ii, aoogemoE rorcocdn-ri

iii. etcc.ocrdm)cmgcDo

iv. nsm-u1co;c1or

A. iii,i,ii,iv
B. iii,iv,i,ii
C. iv,i,ii,iii
D. iii,ii,iv,i

2.

- 3128-
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4. Who was the Prime Minister of India at the
time of the first atomic experiment in
Pokhran?
A. Jawaharlal Nehru
B. Indira Gandhi
C. Fakruddin Ali Ahmad
D. Lal Bahadur Shastri

5. The Tinai concept during the Sangam age
means:
A. Trade guilds
B. Gift to the ruler
C. Racial groups
D. Micro ecozones

6. Identify the present location of Nediyiruppu
Swarupam
A. Kozhikode
B. Kochi
C. Kollam
D. Venad

7. Who founded Sadhu Jana Paripalana
Sangham?
A. Sree Narayana Guru
B. Sahodaran Ayyappan
C. Ayyankali
D. Chattampi Swamikal

8. Who coined the word ‘Neolithic Revolution’?
A. Will Durant
B. J.D. Burnell
C. Mortimer Wheeler
D. Gordon Childe

9. The word ‘Fief’ means:
A. Tax free land
B. Ownership of land
C. Cultivable land
D. A piece of land

10. Which one of the following is wrongly
matched?
A. Treaty of Versailles - Germany
B. Treaty of Sevres - Bulgaria
C. Treaty of St. Germain - Austria
D. Treaty of Trianon - Hungary

4. s]m{Im-\nse BZysØ AWp-]-co-j-W-k-

a-bØv C¥y--bpsS {][m-\-a{¥n Bcm-bn-

cp∂p?

A. Ph-l¿em¬s\lvdp

B. Cµn-cm-Km‘n

C. ^{Ip-±o≥ Aen Al-ΩZv

D. em¬_-l-Zq¿imkv{Xn

5. kwL-Im-e-Ønse XnssW-k-¶¬]w A¿∞-

am-°p-∂Xv

A. I®-h-S-Kn¬Up-Iƒ

B. `c-Wm-[n-Im-cn-°p≈ kΩm\w

C. hwio-b-Iq-´m-bva-Iƒ

D. kq£-]m-cn-ÿn-XnI taJ-e-Iƒ

6. s\Snbncp-∏p-kz-cq-]-Øns‚ C∂sØ ÿm\w

Is≠-ØpI

A. tImgn-t°mSv

B. sIm®n

C. sIm√w

D. thWmSv

7. km[pP\-]-cn-]m-e-\-kwLw ÿm]n-®-Xmcv?

A. {io\m-cm-b-W-Kpcp

B. ktlm-Z-c≥ Aø-∏≥

C. Aø-¶mfn

D. N´-ºn-kzm-an-Iƒ

8. ‘\ho-\-in-em-bp-K-hn-πhw’ F∂ ]Zw cq]-s∏-

Sp-Øn-b-Xmcv ?

A. hn¬Uyq-d≠v

B. sP. Un. _¿W¬

C. tam¿´n-a¿ hoe¿

D. tKm¿U≥ ssN¬Uv

9. ‘^o^v’ F∂ hm°v A¿∞-am-°p-∂Xv

A. \nIp-Xn-c-ln-X-`qan

B. `qan-bpsS DS-a-ÿm-h-Imiw

C. Irjn-bv°-\p-tbm-Py-amb `qan

D. Hcp Xp≠v `qan

10. NphsS X∂n-´p-≈-Xn¬ sX‰mb tPmUn-tbXv?

A. shgvkmbn DS-ºSn ˛ P¿a\n

B. skhvsd DS-ºSn ˛ _ƒtK-dnb

C. sk‚ v P¿a≥ DS-ºSn ˛ Bkv{Snb

D. {Sbm-\≥ DS-ºSn ˛ lwKdn
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1. The maximum concentration of ozone is seen
in
A. Troposphere
B. Stratosphere
C. Mesosphere
D. Thermosphere

2. Loo, which is a hot dry wind blowing in the
afternoon over the northern plains of India
occurs during the months of
A. April and May
B. March and April
C. May and June
D. June and July

3. The average density of the earth’s crust
A. 2.9
B. 4.5
C. 10.7
D. 15

4. San Andreas fault zone of California is an
example for
A. Divergent margin
B. Shear margin
C. Convergent margin
D. None of these

5. The centrifugal force created due to the
rotation of the earth leads to
A. Waves
B. Currents
C. Tsunami
D. Tides

6. The highest mountain ranges in the Himalayas
which is described as the backbone of
Himalayas
A. Trans - Himalaya
B. Himadri
C. Siwalik
D. Himachal

7. The size of the smallest object on the earth’s
surface that a sensor can distinguish is termed
A. Spatial resolution
B. Spectral signature
C. Overlay analysis
D. Buffer analysis

1. Hmtkm¨ Db¿∂ Af-hn¬ ImW-s∏-Sp∂

A¥-co£ ]mfn

A. t{Smt∏m-kv^n-b¿

B. kv{Smt‰m-kv^n-b¿

C. antkm-kv^n-b¿

D. sX¿tam-kv^n-b¿

2. C¥y-bnse DØ-c-a-lm-k-a-X-e-Øn¬ D®bv°v

tijw hoip∂ hc≠ DjvW-°m-‰mb eq

cq]w sIm≈p∂ amk-ßƒ

A. G{]n¬ ˛ sabv

B. am¿®v ˛ G{]n¬

C. sabv ˛ Pq¨

D. Pq¨ ˛ Pqsse

3. `qh¬°-Øns‚ icm-icn km{µX

A. 2.9
B. 4.5
C. 10.7
D. 15

4. NphsS \¬In-bn-´p-≈-h-bn¬ GXns‚ DZm-l-

c-W-amWv Imen-t^m¿Wn-bm-bnse km≥

B≥{Un-bmkv {`wi {]tZiw

A. hntbm-PI koa

B. tOZI koa

C. kwtbm-PI koa

D. Ch-sbm-∂p-a√

5. `q{`-aW ^e-am-bp-≠m-Ip∂ A]-tI-{µ-_ew

aqew cq]w sIm≈p-∂h

A. Xnc-am-e-Iƒ

B. kap-{Z-P-e-{]-hm-l-ßƒ

C. kp\man

D. then-Iƒ

6. lnam-e-b-Øns‚ \s´√v F∂v hnti-jn-∏n-

°p∂ G‰hpw Dbctadnb ]¿∆-X-\nc

A. {Sm≥kv ˛ lnam-ebw

B. lnam{Zn

C. knhm-enIv

D. lnam-®¬

7. Hcp sk≥k-dn\v th¿Xn-cn-®-dn-bm≥ km[n-

°p∂ `qX-e-Ønse G‰hpw sNdnb hkvXp-

hns‚ hen∏sØ Adn-b-s∏-Sp-∂Xv

A. kvt]jy¬ sdk-eyq-j≥

B. kvs]Iv{S¬ knKvt\-®¿

C. Hmh¿te hni-I-e\w

D. BhrØn hni-I-e\w

(ii) GEOGRAPHY
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8. The Great Artesian Basin which is the largest
source of underground water in the world is
located
A. Australia
B. Europe
C. Africa
D. North America

9. The districts in Kerala where there are no
railway lines
A. Wayanad and Pathanamthitta
B. Idukki and Wayanad
C. Pathanamthitta and Idukki
D. Wayanad and Kasargod

10. The non-perennial rivers are indicated in a map
by using
A. Blue colour
B. Brown colour
C. Black colour
D. Red colour

8. temI-Ønse G‰hpw henb `qK¿`-P-e-Ddhn-

S-amb t{K‰v B¿´o-jy≥ taJe ÿnXn sNøp-

∂Xv

A. Bkvt{X-enb

B. bqtdm∏v

C. B{^n°

D. hSs° Ata-cn°

9. tIc-f-Øn¬ sdbn¬]mX-I-fn-√mØ Pn√-Iƒ

A. hb-\mSv, ]Ø-\w-Øn´

B. CSp°n, hb-\mSv

C. ]Ø-\w-Øn´, CSp°n

D. hb-\mSv, Imk-d-tKmUv

10. `q]-S-ß-fn¬ h‰n-t∏m-Ip∂ \Zn-Isf Nn{Xo-I-

cn-°p-∂Xv

A. \oe-\ndw

B. Xhn´v \ndw

C. Idp∏v \ndw

D. Nph∏v \ndw

(iii) ECONOMICS

1. One of the following is not necessarily a
feature of Economic growth
A. Increased per capita income
B. High growth rate of economy
C. Increased wealth of industrial houses
D. Increased government expenditure on

health

2. The variable  which indirectly influences the
value of Human Development Index
A. Life expectancy
B. Per capita income
C. Literacy rate
D. Infant mortality rate

3. Work participation rate means
A. The percentage of population doing

hard work
B. The percentage of population doing

agricultural activities
C. The percentage of working population

to the total population
D. Population in the age group of 15 - 60

years

1. Xmsg ]d-bp-∂-h-bn¬ kmº-ØnI hf¿®-

bpsS khn-ti-jX Bbn IW-°m-°m≥

km[y-X-bn-√m-ØXv

A. Db¿∂ {]Xn-io¿j hcp-am\w

B. Db¿∂ kmº-ØnI hf¿®m \nc°v

C. hymh-km-bnI IpSpw-_-ß-fpsS kmº-

ØnI hf¿®

D. Btcm-Ky-cw-KØv k¿°m¿ sNe-hns‚

hf¿®

2. am\-h-hn-I-k\ kqNn-I-bpsS aqeysØ ]tcm-

£-ambn kzm[o-\n-°p∂ LSIw

A. Bbq¿ssZ¿Lyw

B. {]Xnio¿j hcp-am\w

C. km£-cXm \nc°v

D. inip-a-cW \nc°v

3. sXmgn¬ ]¶m-fnØ \nc°v F∂Xv

A. ITn-\m-[zm\w sNøp∂ P\-ßfpsS iX-

am\w

B. Im¿jn-I-hr-Øn-bn-te¿s∏-́ n-cn-°p∂ P\-

ß-fpsS iX-am\w

C. samØw P\-kw-Jy-bn¬ sXmgn-se-Sp-°p-

∂-h-cpsS iX-am\w

D. 15 ˛ 60 hb- n-\n-Sbv°v {]mb-ap≈ P\-

kwJy



K-TET 2012

- 3/32 -

Category - III

4. Mining and quarrying is a
A. Primary sector activity
B. Secondary sector activity
C. Tertiary sector activity
D. All the above

5. The objective of fiscal policy is
A. Price stability
B. Reduction in inequality
C. To provide equal opportunities
D. All the above

6. The following is not a feature of Socialist
economy
A. Price mechanism operates
B. State has control in the economic

operations
C. Laissez faire policy is ineffective
D. Public sectors dominate

7. The apex industrial development bank in India
A. IFCI
B. IDBI
C. ICICI
D. RBI

8. The lead bank scheme is
A. Recommended by Gadgil study group
B. A development in the banking sector after

nationalization
C. An area intensive approach
D. All the above

9. FDI in multi-brand retailing means
A. Foreign investment in selling different

brands of different commodities to the
consumers

B. Foreign direct investment in selling
different brands of different industrial and
service products to the consumers

C. Foreign direct investment in selling single
product in different parts of the country

D. Foreign direct investment in the
marketing of branded computer products

4. J\-\hpw ]md-s]m-´n-°epw F∂Xv

A. {]mY-anI taJ-e-bnse {]h¿Ø\w

B. ZznXob taJ-e-bnse {]h¿Ø\w

C. XrXob taJ-e-bnse {]h¿Ø\w

D. ta¬∏d-™-h-sb√mw

5. [\-\-b-Øns‚ e£yw

A. hne ÿncX

B. Ak-aXzw Ipd-bv°pI

C. Xpey Ah-kcw \¬IpI

D. ta¬∏d-™-h-sb√mw

6. Xmsg ]d-bp-∂-h-bn¬ tkmjy-enÃv kº-Zvhy-

h-ÿ-bpsS khn-ti-jX A√m-ØXv

A. hne kwhn-[m\w {]h¿Øn-°p∂p

B. kmº-ØnI {]h¿Ø-\-Øn¬ k¿°m¿

\nb-{¥Ww

C. sesks^b¿ \bw kzm[o-\n-°p-∂n√

D. s]mXp-ta-J-ebv°v ap≥Xq°w

7. C¥y-bn¬ hymh-km-bnI hnI-k-\-Øn-\m-

bp≈ D∂X _m¶v?

A. sF.F-^v.-kn.sF

B. sF.Un.-_n.sF

C. sF.kn.-sF.-kn.sF

D. B¿.-_n.sF

8. eoUv _m¶v ]≤Xn F∂Xvv

A. KmUv -Kn¬ ]T-\ -kw -L-w ip]m¿i

sNbvXXv.

B. tZi-km¬°-c -W-Øn\v tij-ap≈

_m¶nwKv cwKsØ Hcp hnI-k\w

C. Hcp {]tZ-i-Xo{h kao-]\w

D. ta¬∏d-™-h-sb√mw

9. _lp-ap{Z Nn√d hym]m-c-Øn¬ {]Xy£

hntZi \nt£]w F∂Xvv

A. hyXykvX ap{Z-bn-ep≈ hyXykvX D¬]-

∂-ßƒ D]-t`m-‡m-°ƒ°v hn¬°p-∂-

Xn-\p≈ {]Xy£ hntZi \nt£]w

B. hyXykvX ap{Z -bn -ep≈ hyXykvX

hymh-km-bnI tkh\ D¬]-∂-ßƒ

hn¬°p-∂-Xn-\p≈ {]Xy£ hntZi

\nt£]w

C. GI-ap-{Z-bp≈ D¬]∂w cmPy-Øns‚

hnhn[ `mK-ß-fn¬ hn¬°p-∂-Xn-\p≈

{]Xy£ hntZi \nt£]w

D. ap{Z-bp≈ Iºyq-´¿ D¬]-∂-ß-fpsS

hn¬]-\ -bn¬ {]Xy£ hntZi

\nt£]w



K-TET 2012

- 3/33 -

Category -III

10. Which is not the function of the World Bank
A. To arrange loans for urgent projects
B. To assist in reconstruction and

development
C. To promote the long-term balanced

growth of regions of a country
D. To encourage international investment

10. temI-_m-¶ns‚ [¿Ω-Øn¬ Dƒs∏-Sm-ØXv

A. ASn-b-¥nc ]≤-Xn-Iƒ°v hmbv]-Xc-s∏-

Sp-Ø¬

B. hnI-k-\-Øn\pw ]p\¿ \n¿am-W-Øn\pw

klm-bn-°pI

C. Zo¿L-Im-em-Sn-ÿm-\-Øn¬ Hcp cmPyØv

k¥p-enX {]mtZ -inI hnI-k\w

t{]m’m-ln-∏n-°pI

D. A¥m-cmjv{S \nt£]w t{]m’m-ln-∏n-

°pI

(iv) POLITICAL SCIENCE

1. Who among the following was the Chairman
of the Drafting Committee of the Constituent
Assembly of India?
A. Dr. Rajendra Prasad
B. Dr. B.R.Ambedkar
C. Dr.K.M.Munshi
D. Jawaharlal Nehru

2. Which Amendment Act deleted the ‘Right to
Property’ from the list of Fundamental Rights
in the Indian Constitution.
A. 42th
B. 43rd
C. 44th
D. 46th

3. Identify the committee which recommended
the inclusion of a separate chapter on
Fundamental Duties in the Indian Constitution?
A. Swaran Singh Committee
B. Ashok Mehta Committee
C. Indrajith Gupta Committee
D. Rajmannar Committee

4. Which one of the following is correct with
regard to the procedure of Amendment of the
Indian Constitution?
A. The bill can be introduced either by a

minister or a Private member.
B. The bill to be passed by both houses of

Parliament
C. The assent of the President is necessary

for a bill to become an Act
D. All the above

1. C¥y≥ `c-W-L-S\m \n¿amW k`-bnse

IcSv IΩn-‰n -bpsS A≤y-£≥ Xmsg-]-d-

bp∂hcn¬ Bcm-bn-cp-∂p.

A. tUm. cmtP-{µ-{]-kmZv

B. tUm. _n.B¿ Awt_-Zv°¿

C. tUm. sI.Fw ap≥jn

D. Ph-l¿em¬ s\lv-dp

2. C¥y≥ `c-W-L-S-\-bnse auen-Im-h-Im-i-ß-

fpsS ]´n-I-bn¬\n∂pw ‘kzØ-h-Imiw’
\o°w sNbvX `c-W-L-S\m t`Z-KXn GXv

A. 42

B. 43

C. 44

D. 46

3. C¥y≥ `c-W-L-S-\-bn¬ auen-I-I-S-a-Iƒ

F∂ Hcp {]tXyI A≤ymbw Dƒs∏-Sp-Ø-

W-sa∂v ip]m¿i sNbvX IΩn‰n GsX∂v

Xncn-®-dn-bpI

A. kzc≥knwKv IΩn‰n

B. Atim-IvtaØ IΩn-‰n

C. C{µ-PnØv Kp]vX IΩn‰n

D. cmP-am-∂m¿ IΩn‰n

4. Xmsg-]-d-bp-∂-h-bn¬ C¥y≥ `c-W-L-S\m

t`Z-KXn \S-]-Sn-IsfIpdn®v icn-bmb H∂v

GXv?

A. Hcp kzImcy AwK-Øn-t\m, a{¥nt°m

_n¬ Ah-X-cn-∏n°mw

B. _n¬ ]m¿e-sa‚ns‚ Ccp k`-Ifpw ]mk-

°-Ww.

C. Hcp _n¬ \nb-a-am-Ip-hm≥ {]kn-U‚ns‚

AwKo-Imcw Bh-iy-am-Wv.

D.  apI-fn¬ ]d-™-h-sb-√mw.



K-TET 2012

- 3/34 -

Category - III

5. Who presides over the joint sitting of the both
houses of the Indian Parliament
A. President
B. Speaker
C. Vice President
D. Prime minister

6. Find out the Writ which can be used for
releasing an illegally detained person from
custody
A. Habeas Corpus
B. Mandamus
C. Certiorari
D. Prohibition

7. Choose the correct day and year on which
Universal Declaration of Human Rights was
pronounced?
A. January 10, 1949
B. February 10, 1950
C. December 10, 1947
D. December 10, 1948

8. Identify the place where the first summit of
NAM was held
A. New York
B. Belgrade
C. Dhaka
D. New Delhi

9. Which one of the following country is not a
permanent member in the UN Security
Council.
A. France
B. Russia
C. China
D. Japan

10. When did the Copenhegan Summit on climate
change was held.
A. 2008
B. 2009
C. 2010
D. 2002

5. C¥y≥ ]m¿e-sa‚ns‚ Ccp k`-IfpsSbpw

kwbp-‡-k-tΩ-f-\-Øn¬ A[y-£X hln-

°p-∂-Xmcv?

A. cmjv{S-]Xn

B. kv]o°¿

C. D]-cm-jv{S-]Xn

D. {][m-\-a{¥n

6. \nb-a-hn-cp-≤-ambn XS-¶-en¬ h®n-cn-°p∂ Hcp

hy‡nsb tamNn-∏n-°p-∂-Xn\v D]-tbm-Kn-°m-

hp∂ ‘dn´v’ Is≠-Øp-I.?

A. tl_n-bkv tIm¿]kv

B. a≥Um-akv

C. sk¿jzdn

D. s{]mln-_n-j≥

7. km¿∆-{XnI a\p-jym-h-Imi {]Jym-]\w \S-

Øn-b-Xns‚ icn-bmb Znh-khpw h¿jhpw

Is≠-ØpI

A. P\p-hcn 10, 1949

B. s^{_p-hcn 10, 1950

C. Unkw-_¿ 10, 1947

D. Unkw-_¿ 10, 1948

8. tNcn-tNcm {]ÿm-\-Øns‚ BZy D®-tImSn

\S∂ ÿew Xncn-®-dn-bpI?

A. \yqtbm¿°v

B. s_¬t{KUv

C. [m°

D. \yqsU¬ln

9. Xmsg-]-d-bp-∂-h-bn¬ sFIy-cm-jv{S-kp-c-£m-

k-an-Xn-bnse ÿncmwKw A√mØ cmPy-taXv?

A. {^m≥kv

B. djy

C. ssN\

D. P∏m≥

10. Imem-hÿm hyXn-bm-\sØ kw_-‘n-°p∂

tIm∏≥tl-K≥ D®-tImSn \S-∂-sX∂v?

A. 2008

B. 2009

C. 2010

D. 2002
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(v) Pedagogy

1. To develop an appreciation of the inter -
dependence of nations and regions of the
world is one of the main objectives of teaching
A. History
B. Geography
C. Economics
D. Politics

2. To develop interest in Social science learning,
which of the following is not suited
A. Usage of map, chart, globe, films etc.,
B. Knowledge on achievement level
C. Maintaining a bulletin board
D. Conducting field trips/visits

3. The micro-teaching skills does not include
A. Stimulus variation
B. Reinforcement
C. Asking probing questions
D. Problem solving

4. The inquiry Training Model of teaching was
developed by
A. Jean Piaget
B. Richard Suchman
C. Donald Oliver
D. John Dewey

5. The three-demensional aids used for the
effective classroom instruction of social
science does not include
A. Models
B. Specimens
C. Slides
D. Puppets

6. A learning aid used for Social Science
instruction which best visualizes relationships
like comparisons, developments, classification
and organizations is
A. Diagrams
B. Charts
C. Pictures
D. Maps

1. temIsØ hnhn[ cmPy-ßfpw {]tZ-i-ßfpw

XΩn -ep≈ ]c-kv]c B{i-b-Xz -Øns‚

Bkzm-Z\w F∂Xv Hcp {][m\ Dt±-iy-ambn

hcp∂ hnjbw

A. Ncn{Xw

B. `qan-imkv{Xw

C. [\-X-Øz-imkv{Xw

D. cmjv{S-ao-amwk

2. Xmsg ]d-bp-∂-h-bn¬ kmaq-ly-imkv{X]T-

\-Øn¬ Xm¬]cyw hf¿Øp-∂-Xn\v A\p-

tbm-Py-a-√m-ØXv

A. `q]-Sw, Nm¿´v, t•m_v, kn\n-a apX-em-b-

h-bpsS D]-tbmKw

B. ]T\ \ne-hm-c-sØ-°p-dn-®p≈ Adnhv

C. _p≈-‰n≥ t_m¿Uv \ne-\n¿ØpI

D. ]T\ bm{X-Ifpw kµ¿i-\ -ßfpw

kwL-Sn-∏n-°pI

3. kq£va]T-\-Øns‚ tijn-I-fn¬ Dƒs∏-Sm-

ØXv

A. tNmZ\ hyXn-bm\w

B. {]_-e\w

C. Nnt¥m-Zo-]I tNmZy-ßƒ D∂-bn-°pI

D. {]iv\ ]cn-l-cWw

4. At\z -j-Wm-flI]T\amXr-I-bpsS D]-

⁄mXmhv

A. Po≥ ]nbmsj

B. dn®m¿Uv k®v-am≥

C. sUm\mƒUv Hfn-h¿

D. tPm¨ Uyqbn

5. ^e-{]-Z-amb kmaq-ly-im-kv{X-¢mkv dqw

t_m[-\-Øn¬ D]-tbm-K-s∏-Sp-Øm≥ Ign-

bmØ Hcp {Xnam\ ]T-t\m-]-I-cWw

A. amXr-I-Iƒ

B. kvs]kn-a-\p-Iƒ

C. s…bvUv

D. ]mh-Iƒ

6. kmaq-ly-im-kv{X-t_m-[-\-Øn¬ Xcw Xncn-

°¬, hnI-kn-∏n-°¬, Iq´n-tbm-Pn-∏n-°¬,

F∂n-ßs\ _‘w Is≠-Øp-hm≥ klm-

bn-°p∂ G‰hpw A\p-tbm-Py-amb ]T-t\m-]-

IcWw

A. Ub-{K-ap-Iƒ

B. Nm¿´p-Iƒ

C. Nn{X-ßƒ

D. `q]-S-ßƒ
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7. ]mTy-]-≤Xn cq]-s∏-Sp-Øp-∂-Xn\pw ]T-\-t_m-

[-\-km-a-{Kn-Iƒ \n›-bn-°p-∂-Xn\pw A[ym-

]-I-cpsS {]h¿Ø-\-ßƒ°v Hcp hgn-Im-´n-

bmbn {]h¿Øn-°p∂ Hcp ]≤-Xn-bmWv

A. A[ym-]\ amXr-I-Iƒ

B. A[ym-]\ X{¥-ßƒ

C. A[ym-]\ coXn-Iƒ

D. A[ym-]\ D]-I-c-W-ßƒ

8. "{^bnwkv Hm^v sa≥Uv' F∂ ]pkvXIw

Fgp-Xn-bXv

A. tUm. tlmhm-¿Uv Km¿U-\¿

B. tUm. _-©-an≥.Fkv.ªqw

C. tUm. F-kv. cm[m-Ir-jvW≥

D. tdm_¿´v.-Fw.-KmKvt\

9. Ip´n-Iƒ Fgp-Øv, hmb-\, IY-]-d-b¬, {]tl-

fnI ]q¿Øn-bm-°¬ F∂nh Bkz-Zn-°p∂p

F¶n¬ B Ip´n-Iƒ°v Xmsg ]d-bp-∂-h-bn¬

GXv _p≤n-bmWv D≈Xv?

A. bp‡-]-chpw KWn-X-]-c-hp-amb _p≤n

B. imco-cn-Ihpw Ne-\m-fl-I-hp-amb _p≤n

C. `mj-]-c-amb _p≤n

D. ÿe-]-c-amb _p≤n

10. KmKvt\-bpsS ]T\ ]nc-anUv t{iWn-bn¬

G‰hpw Db¿∂ ÿm\w D≈Xv

A. D≈S° ]T-\-Øn\v

B. {]iv\-]-cn-l-c-W-Øn\v

C. t{iWo-]-T-\-Øn\v

D. _lp-ap-J-hn-th-N-\-Øn\v

7. A pattern or plan which can be used to shape
a curriculum or course to select instructional
materials and to guide a teachers action is
termed as:
A. Models of teaching
B. Techniques of teaching
C. Methods of teaching
D. Devices for teaching

8. The ‘Frames of mind’ is a book written by
A. Dr.Howard Gardner
B. Dr.Benjamin S.Bloom
C. Dr.S.Radhakrishnan
D. Robert.M. Gange

9. If children enjoy writing, reading, telling stories
or doing crossword puzzles, then they possess
A. Logical – mathematical intelligence
B. Bodily – Kinesthetic intelligence
C. Linguistic intelligence
D. Spatial intelligence

10. In Gagne’s hierarchy of learning pyramid the
topmost position is occupied by
A. Concept learning
B. Problem solving
C. Chain learning
D. Multiple discrimination




